MRIFEIHAR

SH6E4R N
£HH 18 H AE % (M)
R6.4.8 & [BERxHR 6,000
R6.4.17 £E [BERXH 6,000
R6.4.19 £E [BERXH 7,000
R6.4.24 £2E [BERXH 5,000
R6.4.25 £E [BERXH 5,500
R6.4.26 £E [BERXH 8,000
R6.4.27 £E [BERXH 8,000
G THE ST
45,500
SH6ESH R
£HH 18 H % (M)
R6.5.2 = ERXH 5,000
R6.5.10 B |ERXR 2,200
R6.5.10 = ERXH 2,200
R6.5.10 BNE  |HEBESPR 3,029
R6.5.20 = ERXH 5,500
R6.5.22 = ERXH 5,000
R6.5.27 = ERXH 5,500
R6.5.29 = ERXH 6,000
Hi 34,429
SH6E6 RN
£HH 18 H AR £% (M)
R6.6.5 £2E [BERXH 3,000
R6.6.8 By (E 10,000
R6.6.15 A 47t 20,000
R6.6.25 [£B]ERX#8000%KILE RE LT
R6.6.28 £E [BERXH 6,000
Hi 39,000
SH6E7R S
£HH 18 H AR £% (M)
R6.7.1 £2E [BERXH 11,000
R6.7.22 £E [BERXH 5,000
R6.7.26 BNE  |HEBESPR 7,128
Hi 23,128
SI6ESH R
£HH 18 H AR £% (M)
R6.8.2 = ERXH 4,000
R6.8.5 HovE | ThisE S PR 10,000
R6.8.5 HovE | ThisE S PR 10,000
R6.8.6 & [BERxHR 5,500
R6.8.8 & [BERxHR 6,000
R6.8.20 & [BERxHR 8,500
Hi 44,000




SH6EIR N
F£HH IEH HE £%(H)
R6.9.7 HohE | ThisE S PR 3,700
R6.9.23 HohE | ThisE S PR 2,581
R6.9.23 H5E | hiEE&PR 5,076
R6.9.24 HohE | ThisE S PR 9,076
R6.9.25 HohE | hisE S PR 3,780
R6.9.25 F5E | hiEE&PR 2,581
R6.9.28 G ET T 10,000
= 32,794
SHIE6E10H S
£HH HH AR £%(H)
R6.10.7 28 |BERXH 3,000
R6.10.13 & ERNIR 9,000
R6.10.16 HohE | ThisE S PR 3,064
R6.10.16 HohE | ThisE S PR 3,064
R6.10.18 28 [BERXE: 6,000
R6.10.23 | #5E |[hmEBESPR 9,076
R6.10.26 | S5E& |[HmEFESPR 24,948
R6.10.26 HohE | ThisE S PR 3,064
= 54716
SHE6E11 /S
£HH HH AR £%(H)
R6.11.1 28 |BERXH 3,000
R6.11.8 & ERXIR 6,000
R6.11.8 HovE | ThisE S PR 16,100
R6.11.12 HovE | ThisE S PR 3,064
R6.11.14 CEEE T 20,000
R6.11.14 BE  [ZEEET 17,600
R6.11.18 2& |[EEXHE 9,900
R6.11.19 2& |[EEXHE 6,000
R6.11.20 2& |[EEXHE 9,000
R6.11.23 2& |[EEXE 8,000
R6.11.24 2% |BExXHR 10,000
=T 100,764
SH6E12H S
F£HH IEH RE £%(H)
R6.12.5 28 |BERXH 9,500
R6.12.6 28 |BERXE 9,000
R6.12.11 28 |BERXE 7,000
R6.12.13 28 |BERXE 9,000
R6.12.22 BE  [ZEEET 17,600
R6.12.23 CEEER T 20,000
R6.1225 | #5& [HEESPR 3,564
= 63,664
SH7E189
F£HH IEH HE £%(H)
R7.15 H5E  |[hEERPR 4,600
R7.1.12 28 |BERXE 6,000
R7.1.14 28 |BERXE 8,000
R7.1.28 B |ZEEEAR 10,000
R7.1.29 H5E  |[hmEERPR 3,564
R7.1.30 28 [BERXE: 6,000
R7.1.31 28 [BERxXE 6,000
=T 44,164




SH7E28 9

£HH 18 H AR % (M)
R7.2.2 = ERXH 6,000
R7.2.9 B FEEAET 17,600
R7.2.10 B | FETH 20,000
Hi 43,600
SH7E3/ R
£HH 18 H AR £% (M)
R7.3.3 = ERXH 3,000
R7.3.22 = ERXH 5,000
R7.3.24 = ERXH 6,000
R7.3.28 = ERXH 2,500
R7.3.28 e [ERXH 5,000
R7.3.30 = ERXH 10,000
Hi 31,500




